prepp

Practice, Learn and Achieve
Your Goal with Prepp

UGC NET Exam

History

Simplifying
Government Exams

@ ssccHst | £ 1asexam | (D) RRENTPC | GO NTSE | £ cDs
& cBsEuGC NET | (i7 1BPS PO | 7 NDA

€ ssiro | (17 1BPs CLERK | &y AFcaT | @

@ csiRucc NET | @ capF | (i7 1BPS RRB



https://prepp.in/
https://prepp.in/ssc-chsl-exam
https://prepp.in/ias-exam-exam
https://prepp.in/rrb-ntpc-exam
https://prepp.in/ntse-exam
https://prepp.in/cds-exam
https://prepp.in/ssc-cgl-exam
https://prepp.in/cbse-ugc-net-exam
https://prepp.in/ibps-po-exam
https://prepp.in/nda-exam
https://prepp.in/sbi-po-exam
https://prepp.in/ibps-clerk-exam
https://prepp.in/afcat-exam
https://prepp.in/ssc-je-exam
https://prepp.in/ctet-exam
https://prepp.in/csir-ugc-net-exam
https://prepp.in/upsc-capf-exam
https://prepp.in/ibps-rrb-exam

PAPER-II
HISTORY

Signature and Name of Invigilator

1.

2.

J [ 1

(Signature)
(Name)
(Signature)
(Name)

4

Time : 1 /4 hours]

OMR Sheet No. :

Roll No.

(To be filled by the Candidate)

(In figures as per admission card)

Roll No.

(In words)

[Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

W

%o o

Instructions for the Candidates

Write your roll number in the space provided on the top of
this page.
This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.
Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be
given.
(iii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.
Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the circle as indicated below on
the correct response against each item.

Example:@ . @

where (C) is the correct response.

Your responses to the items are to be indicated in the OMR
Sheet given inside the Paper I Booklet only. If you mark
at any place other than in the circle in the OMR Sheet, it will
not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means such as change of response by scratching or using
white fluid, you will render yourself liable to disqualification.
You have to return the test question booklet and Original
OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. You are, however, allowed to carry original
question booklet and duplicate copy of OMR Sheet on
conclusion of examination.

(i)

. Use only Blue/Black Ball point pen.

. Use of any calculator or log table etc., is prohibited.

. There is no negative marks for incorrect answers.

. In case of any discrepancy in the English and Hindi versions,

English version will be taken as final.
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HISTORY
Paper - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

1.

questions are compulsory.
Match List — I with List — II and
select the correct answer from the
code given below :

List -1 List - II
a. Grid systemof 1. Pitt Rivers
excavation
b. Principle of ii. R.E.M.
stratigraphy Wheeler
c. Radiocarbon iii. Thomas
method of dating Jefferson

d. Three dimen- iv. F.W. Libby
sional method of
recording
Codes :
a b c d
(A) i i i iv
B) i di v i
(©) i i inoiv
) i v i i

In which area the neolithic man lived
in underground pits ?

(A) Karnataka

(B) Assam

(C) Kashmir

(D) Madhya Pradesh

Match List — I (items found in
Harappan sites) with List — 1I
(possible sources) and select the
correct answer from the codes given

List - IT
a. Copper 1. Deccan
b. Shell ii. Rajasthan
c. Lapis Lazuli iii. Kutch
d. Gold iv. Afghanistan
Codes :

a b c d
(A) 1 v i ii
B) i i iv
© i i i iv
D) i i v i

4.

Which among the following weapons
of war have not been found in the
remains of the Harappan culture ?

(i) Bows and Arrows
@i1) Swords

(iii) Shields

(iv) Helmets

Select the correct answer with the
help of the code given below :

(A) (1) only

(B) (i) and (ii)

(C) (i) and (iii)

(D) (i), (iii) and (iv)

Who among the following priests had

the duty to supervise the performance
of a sacrifice ?

(A) Hota
(B) Brahma
(C) Udgata

(D) Adhvaryu

Match List — I with List — II and
select the correct answer from the
codes given below :

List -1 List - IT
a. Srautasutra 1. Measuring of fire
— altars

b. Grihyasutra 1ii. Rules relating to

sacrifices

c. Dharmasutra iii. Domestic Rights
d. Sulvasutra iv. Dharma or Law
Codes :

a b c d
(A i1 i iv i
B) i i i iv
© i oivii i
(D) v i i il
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e -1 = - 10
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b. @ ii. TR
c. AAER iii. =
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B) i il il v
©) i i i v
D) i i iv i
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Match List — I with List — II and
select the correct answer from the
code given below :

List -1 List - II
a. Surya Siddhanta i. Romans
b. Pudgala ii. Greeks
c. Horashastra iii. Aryabhatta
d. Arretine Ware iv. Jainism
Codes :

a b c d
(A i v il i
B) i il i iv
© i odi ivo i
D) i i iv il

Match List — I (Officials) with
List — IT (Departments) and select the
correct answer with the help of the
codes given below :

List -1 List - II
(Officials) (Departments)
a. Lakshanadhyaksha i. Superintendent
of Mints
b. Sitadhyaksha ii. Superintendent
of Commerce
c. Pautavadhyaksha iii. Superintendent
of Agriculture
d. Panyadhyaksha  iv. Superintendent
of Weights
and Measures
Codes :
a b c d
(A) iv i i il

@) i i iv i
©) i i i v
D) i i i v

Which inscription of Ashoka gives
an account of Kalinga War ?

(A) Jaugada Rock Inscription

(B) Dhauli Rock Inscription

(C) Rummindei Pillar Inscription
(D) Shahbajgarhi Rock Edict

Who among the following rulers is
the last ruler of the Satavahana
dynasty ?

(A) Siri Yajna

(B) Siri Satakarni

(C) Pulumavi IV

(D) Siva Siri Pulumavi

Who was the first Mathematician to
calculate the correct value of pi () ?
(A) Aryabhatta I

(B) Aryabhatta II

(C) Varahmihira

(D) Brahmagupta

Which one of the following
territories was not ruled by King
Chandragupta—17?

(A) Prayaga (B) Saketa
(C) Vaishali (D) Magadha

St. Thomas come to India for the
propagation of Christianity during
the reign of

(A) Akbar

(B) Gondophernes

(C) Kadphises

(D) Jahangir

What is the correct chronological

sequence of the following Buddhist

sites ?

(A) Nalanda, Nagarjunikonda,
Amravati, Sanchi

(B) Nagarjunikonda, Sanchi,
Amravati, Nalanda

(C) Sanchi, Amravati,
Nagarjunikonda, Nalanda

(D) Sanchi, Nagarjunikonda,

Amravati, Nalanda

Who among the following officers
was not a functionary under the
Mauryan Administration ?

(A) Pradesikas  (B) Rajukas
(C) Yuktas (D) Nayakas
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16.

17.

18.

19.

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R) :
Assertion (A) : With the
establishment of Turkish rule,
the art of history writing was
firmly established in India.

Reason (R) : The Sultanate period
witnessed  development  of
paper industry in India.

In the context of the above two

statements, which one of the

following is correct ? Select the
correct answer from the codes given
below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is mnot the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A)is false, but (R) is true.

Who proclaimed that the mason and
stone cutters of Delhi were superior
to their fellow craftmen in the whole
Muslim World ?

(A) Amir Khusro

(B) Minhaj-us-Siraj

(C) Ibn Batuta

(D) Isami

Who among the following used to
look after the army during the
Sultanate period ?

(A) Naib
(B) Wazir
(C) Qazi

(D) Ariz-i Mamaliq

The country is for the most part well
cultivated, very fertile, the troops
amount in number to eleven lakhs.
Who made the above statement in
respect of Vijayanagara State ?

(A) Nuniz

(B) Abdur Razzak

(C) Nicolo Conti

(D) D. Barbosa

20.

21.

22,

23.

Who among the following opined
that ‘A woman cannot acquit herself
well as a ruler for she is essentially
deficient in intellect’ ?

(A) Minhaj-us-Siraj

(B) Ziyauddin Barni

(C) Isami

(D) Yahya Bin Ahmad

Consider the following statements

about Sher Shah Suri :

1. Sher Shah established an
empire extending from
Afghanistan to Orissa.

2. His use of Hindavi language in
administration was a measure
of his practical sense.

3.  He enforced law and order with
heavy hand.

4.  He withdrew the circulation of
gold coins.

Which of the above statements are

correct ? Select the correct answer

from the codes given below :

Codes :
A 1,3 B) 2,3
) 1,4 (D) 2,4

Arrange the following in correct
chronological order and select the
correct answer from the codes given
below :

(i) Battle of Khanwa

(i1)) Battle of Palkhed

(i11) Battle of Chausa

(iv) Battle of Dhrmat

Codes :

(A) (), (i), (iv), (i)

(B) (i), (1), (i), (iv)

(©) (), (1), (iv), (iii)

D) (v), (i), (ii1), (1)

Which of the following historical
accounts was not written during the
reign of Akbar ?

(A) Tarikh-i Firishta

(B) Humayunnama

(C) Tarikh-i Shershahi

(D) Tabaqat-i Akbari
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TR & & T ST o7 ?

(A) "
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(B) 3TFSTH

(C) Tt st

(D) . IREEr

20.
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23.
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(A) TH=r-3T s

(B) o= s+t

(C) zamr

(D) IR e 3TEHT

IETE T & AR H Al wuE w
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(A 1,3

<o 1,4

B 2,3
D) 2,4

frfetEd o W& Hoshe § TW@H Fe
T U T S0 A ¥ A 91 T S E
o=l & 2

() @Har = gE

(i) UTEE 1 IF

(iii) =T H gF

(iv) = A TF

ETE

(A) (), (1), (iv), (ii)

(B) (i), (1), (i), (iv)

(©) (i), (1), (iv), (iii)

(D)  (@v), (1), (iii), (1)

Trfetfiaa # 9 T ufdeitass o ot ToeT
STHET o TG T H &l ol T 4 2
(A) TRIG-T-HR

(B) AT

(C) TRIG-T-IRIMET

(D) TEHId-U-3The
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24.

25.

26.

Which of the following historians
writes that Nur Jahan’s “relations and
connections were exalted by favours
of all kind” ?

(A) Mutamad Khan

(B) Inayat Khan

(C) Khwaja Kamgar Khan

(D) Abdul Hamid Lahori

Which of the following statements is

true ?

(A) Like Europe, the nobility in
Mughal India was a legal category.

(B) The Mughal nobles were not
involved in the task of
administration at higher level.

(C) The social distinctions between
the Iranis, Turanis and the
Shaikhzada nobles disappeared.

(D) The nobles whose ancestors had
been in the Mughal Imperial
service for more than a genera-
tion were called Khanazads.

Match List — I with List — II and
select the correct answer from the
codes given below :

List-1 List - II
a. Francois 1. A Dutch traveller
Bernier who visited India

during the reign of

Jahangir.

A French traveller

who was a jeweller

by profession and
who was in India
during the reigns
of Shah Jahan and

Aurangzeb.

c. Pelsaert 1iii. An  Englishman
who visited India
during the reign of
Akbar.

d. Ralph iv. A French

Fitch physician who
visited India
during the reign of
Aurangzeb and
believed that King
was the owner of
all land in India.

b. Tavernier ii.

Codes :

a b c d
(A) iv i i il
B) iv i i i
©) i v i il
D) i v i i

27. Match List — I with List — II and

28.

29.

select the correct answer from the
codes given below :

List-1 List — 11
a. ljara i. A method of land
revenue

assessment  and
collection under
the Mughals

b. Hasil ii. The system of
revenue farming

c. Ghalla iii. Area under crop

bakhshi failure
d. Nabud iv. Actually realised
revenue under the
Mughals
Codes :

a b c d
(A iv il i iii
B) i v i 1il
<© i i iv il
(D) il i iv i

Given below are two statements, one
labelled as Assertion (A) and other
labelled as Reason (R) :

Assertion (A) : In military terms

Aurangzeb’s reign was
undistinguished.

Reason (R) : He could not subjugate
the Marathas.

In the context of the above two

statements, which one of the
following is correct ?
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is mnot the correct
explanation of (A).

(C©) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

‘The reality of Mughal centralized
power is one matter, whether it was
‘good or bad’ quite another.’

Who made the above statement ?

(A) J.F. Richards

(B) Irfan Habib

(C) Satish Chandra

(D) Jadunath Sarkar
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(A) iv il i 1il
B) iv i il i
<© i v i 1il
D) i v i i
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28.
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(D) 1 i iv il

T 3T e U M €, U W HT (A)

e T € Td T HROT (R)

FUA (A) : ¥ gfte & T= | TR
T AT STHT =l AT |

% (R) : 98 WE H HEA07 § AR o
bt 41 |

SIS I Tt & Gy 4 et

HY BT AT ?

E TR

(A) (A) 3 (R) 3H1 Wl & W (R),
(A) ! TEl A E |

(B) (A) 3 (R) 31 Wet & W= (R),
(A) I e AT T € |

(C) (A) T g, g (R) T ¢ |

(D) (A) W&l 7@ &, fheg (R) W& € |

T &, I8 TS ot 3Ter S off IE qEd
A Y 17 U HUT TR & 2

(A) SUE REsd

(B) T gaE

(C) T o=

(D) TG WHR
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30.

31.

Match List-I with List-II and select
the correct answer from the codes
given below :

List -1 List - II
(Name of the (Title of the
Department of the Head of the
Central Government Department)
under Shivaji)
a. Department of Royal i. Amatya
Household and Court
Affairs
b. Department of ii. Mantri
Foreign Affairs
c. Department of Royal 1iii. Sumant
Correspondence

d. Finance Department iv. Sachiv
Codes :
a b c d

(A) 1 i i v

MB) i qi iv i

© i ivd

(D) i il i iv

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R) :

Assertion (A) : Weak statesmen and
incompetent commanders were
responsible  for the rapid
disintegration of the Mughal
Empire in the first half of the
Eighteenth century.

Reason (R) : The Mughal statesmen
and nobles of this period were
preoccupied with their own
interest and had little concern
for the fate of the Empire.

In the context of the above two

statements, which one of the

following is correct ? Select the
correct answer from the codes given
below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is mnot the correct
explanation of (A).

(C©) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

32. The only major industry in the hands
of Indian capitalists during the late
nineteenth century was

(A) Cotton textile

(B) Jute

(C) Iron and steel

(D) None of the above

33. A young Maharashtrian who joined
the revolutionary movement in

Punjab was :
(A) Sukhdev (B) Rajguru
(C) Namdev (D) Vasudev

34. Who stated that the object of the
political dacoities must be to secure
money belonging to the Government ?

(A) Ramprasad Bismil
(B) Surya Sen

(C) Pritilata Waddedar
(D) Sukhdev

35. Arrange the following in correct
chronological order and select the
correct answer with the help of the
code given below :

(i) Minto

(i) John Shore

(ii1) Cornwallis

(iv) Warren Hastings
Codes :

(A) @), (i), (1), (ii1)
(B) (i), (i1), (iv), ()
© (@), (), (1iD), (iv)

D) (@), (i), (D), (1)
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30. I - 1 GET - 11 9 e i o

T f3T T F< A TETTAT ¥ el I H
Wﬂ%ﬁl’q:

e -1 = - 11
(fForarsht & e (frvmr
FHEE A F 3TEAET BT UT)
Tt & =)

a. T UGN Ud @RI i, 3T

ol & Gt

foram
b. fogen mmet 9 i, T
T o

c. Ve TSR iii. g
gra=t faemT

d. fas fam iv. afea

o

¢ .

(A) i i i v
B) i i iv i
©) i i iv i
D) i i i v

I I wuF T 0 €, H ¥ U

M (A) 3R 3T T (R) € :

Ffieme (A) : SICREd ISt & Jdis
T Weg & el foeged &
far e worifas wa emmg
IS SOEET I |

% (R) : 39 HTeT & ST ISHIAR S
IR et Tt w gfd H =
g | 3% g & FEg 5 e
w TEl ot |

SYIHT & FHT & uGT H fefate o

T HF G FE @l § 2 A @ ™ e

H T ST T TIT BT

E TR

(A) (A) 3R (R) 34 FEl & 3R (R),
(A) T el TEHIT E |

(B) (A) 3 (R) TFl W&l €, Afeh
(R), (A) I &l TILIHT Tel ¢ |

(C) (A) W&l &, a1 (R) Tord & |

(D) (A) ToId &, WA (R) el & |

o
[

32.

33.

34.

35.

19 A % STY B 9RAd

Sianfedl & &9 § A A 9 e
SR o7 2

(A) FHUE § [T et =M
(B) UeHT &M
(C) el Ue W&ieT S

(D) SWiad d F HIE @l

W % TH gl oed 9&e &

SHifdehRI Ao | 9T fora 2

(A) g@a
(B) TT®
(C) e
(D) =rgsd

[a

TS SHiqar o 8T GhR
T HEATE 2

(A) TR fafere
(B) Hd &
(C) Tifderar agear
(D) g@=d

FeffEad § & ey %@ a1 %
g

frafafed o FOHRANAR  HHES
FHITT T2 A 53 M0 e wt gera 9

Tt ST HT TIT BT
() fHuer

(i) S AR

(iii) HHATAT

(iv) @R e

YA

(A) (), (1), (1), (iid)
(B) (i), (iD), (iv), (@)
(©) (@), (i),(iD), (iv)
D) (v), (i), (i), (@)
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36.

37.

38.

39.

Who commented ‘Oriental learning,
is inferior to European learning ?”

(A) Charles Wood

(B) William Carrey
(C) Lord Macaulay
(D) William Hunter

Who were called ‘Neo Nationalists’ ?
(A) Moderators

(B) Swarajists

(C) Extremists

(D) Revolutionaries

Who set up the Agricultural Research
Institute at Pusa ?

(A) Lytton
(C) Curzon

(B) Rippon
(D) Minto

Match List — I with List — II and
select the correct answer with the
help of the codes given below :

List -1 List - 1T
(Commission) (Chairman)
a. Famine i. Thomas
Commission 1899 Robertson
b. Railway ii. Thomas
Commission 1901 Raleigh
c. Irrigation iii. Anthony
Commission 1901 MacDonnell
d. Universities iv. Sir Colin
Commission 1902 Scott
Moncrieff

Codes :

(A) i i iv il
@) i iv il il
©) iv i i i

D) i i i v

40.

41.

42,

43.

Who of the following poets wrote in
praise of Russian Revolution of 1917 ?

(A) Subramanya Bharati
(B) Muhammad Igbal
(C) Sarojini Naidu

(D) Rabindranath Tagore

In which year Dacca Anushilan
Samiti was founded ?

(A) 1902
(B) 1903
(C) 1904
(D) 1905

Who among the following said, “For
me every tiniest activity is governed
by what I consider to be my religion” ?

(A) Swami Vivekanand
(B) V.D. Savarkar

(C) Mahatma Gandhi

(D) Subhash Chandra Bose

The All India Women’s Conference
was started in 1927 to

(A) promote women’s education

(B) increase women’s share in the
legislatures

(C) enhance women’s employment

(D) campaign for women’s voting
rights
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feoott fererant & 2

(A) e

(B) faferem &t
(C) TS Hepretl
(D) faferaw gvex

TR e et ST & 2
(A) Y TA

(B) TORSTER!

(C) e

(D) ShifdRI

THT H Y Y G e wna
BRI
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(B) =
(C) A
(D) foer
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b. I @M 1901 . T IA
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T 1902 THiT AHTHE

E T

o

(A) i i iv il
@) i iv i il
©) iv i i i
D) i il i v

40.

41.

42,

43.

frfotfad wfoat & & fFa &t hifa
1917 % A=A § e fordt off 2
(A) T STRe

(B) HIewE 3ehatel

(C)  wfsHr g

(D) AT SR

TR SRIe |fafd s T fohg ad
Hge?

(A) 1902

(B) 1903

(©) 1904

(D) 1905

“BRT TS OTIAH HEEAT 39 ERT
fsfera grem &, 59 § o gwerEr § 1
frfataa o § 8 oo o € 2

(A) @ fgawE=
(B) .Sl WeReT
(C) e el

(D) g T

1927 # 3ifEel ARAE Afeem HORE &
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(A) Hfeer e § gig & |

(B) foum wweit H HAfgenen i
TERI sl S&HT |

(C) wfEeet & USHIR &l TgHT |

(D) wfgamslt & WAMeHR & forw
AN TAT |
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44.

45.

46.

47.

Who of the following led a
delegation to London to demand
Female Franchise ?

(A) Annie Besant

(B)  Sucheta Kripalani
(C) Sarla Devi

(D) Sarojini Naidu

Which of the following is not true of
the Cabinet Mission plan ?

(A) It rejected the creation of a
separate State of Pakistan.

(B) It recognized India’s right to
secede from the
Commonwealth.

(C) All members of the Indian
Cabinet are to be Indians.

(D) It gave scope to the communal
representation.

The Nehru-Liaqgat Pact between India
and Pakistan was signed in 1950 to
resolve the issue of

(A) Protection of Minorities

(B) The accession of the Princely
States

(C) The Border disputes
(D) Foreign Relations

Where was Panchayat Raj first
introduced ?

(A) Tamil Nadu

(B) Rajasthan

(C) Maharashtra
(D) Andhra Pradesh

48.

49.

50.

Which one of the following
statements is not correct about Black
Death ?

(A) The blood sucking fleas, that
lived on black rats were
responsible for the spread of
Black Death.

(B) Plague was called Black Death
because of the deadly black
swellings it caused.

(C) The terrible disease was
transmitted from Asia to
Europe in the fifteenth century.

(D) People thought that God had
sent the Black Death as a
punishment for their sins.

Given below are two statements, one

is labelled as Assertion (A) and the

other one labelled as Reason (R) :

Assertion (A) : Civilization in all its
varied aspects constitutes the
subject-matter of history.

Reason (R) : Such a cultural approach
to history would make it a
biography of civilization.

In the context of the above two

statements, which one of the

following codes is correct ?

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but
(R) is mnot the correct
explanation of (A).

(C©) (A)istrue, but (R) is false.

(D) (A)is false but (R) is true.

Who amongst the following medieval
historiographers pronounced that :
“Prejudice and partisanship obscure
the critical faculty and preclude
critical investigation” ?

(A) Al beruni

(B) Minhaj-us Siraj

(C) Ibn Khaldoun

(D) Ziyauddin Barni
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44.
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“SAh U & T H (T H 9 i @

O T TRl § 9

(A) T IH ael ey, St el <@l
T Ed 9, =% U F e & [aT@
SRR & |

(B) I & ‘&l U @ A T,
i TTY ST el goi &
ST E |

(C) & 9ge AT 15a1 s o
Ul | 909 § et |

(D) <N & foaR o fF 9er 3 3%
Tt TS 3 F [T 39 =i
Y B WS E |

F9 T e 53 o ® € e @ wem

F NTHIT (A) R fgdra & aF (R)

TR AT E

AfHAT (A) . TIA T W fafay
&l 9§ Sfer i fowe a5 S €

% (R) : e & ufd Udr Qiemias
TP T WA Bl ST ST
[ |

ST q1 HOT IS F T Tel S

T TIT BT

E TR

(A) (A) 3R (R) SHI W&l & T (R),
(A) Tl TE AT F |

(B) (A) 3 (R) AT Wl €, WA
(R), (A) & Tel AR Tal & |

(C) (A) A g, Ak (R) 3HAE |

(D) (A) 3T &, oifhT (R) TAE |

“IeyE 3T TeTITd SATCArHTH g i
e HA & SR STATSITS 3o
® AET WA 1 T HET TR
TR SFeehR & & 2

(A) FTIEA

(B) Mre-3q-TaR
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